
Programado al 

periodo

(B)

Porcentaje del 

programado al 

periodo respecto 

del presupuesto 

modificado 

anual

(C) = B/A*100

Ejercido por la 
operación del 

ejercicio

(D)

% variación 

Programado y 

ejercido

Devengado no 

pagado

(E)

Total. Ejercido + 

Devengado no 

pagado

(F) = D+E

Diferencia

(G) = B-F

1000 177,957,761.00 177,957,761.00         33,532,374.00       18.84% 29,017,900.84       86.54% 564,165.4         29,582,066.19     3,950,307.81       83.96% -11.78% 16.62%

2000 12,246,028.00 12,246,028.00          2,614,619.00          21.35% 760,199.62             29.07% 18,421.96          778,621.58           1,835,997.42       37.21% -70.22% 6.36%

3000 38,406,836.00 38,406,836.00        9,725,266.00         25.32% 5,329,799.45         54.80% 150,512.8          5,480,312.29       4,244,953.71       72.13% -43.65% 14.27%

4000 3,496,186.00 3,496,186.00            874,047.00           25.00% 492,693.39            56.37% -                    492,693.39          381,353.61            69.85% -43.63% 14.09%

SubTotal 232,106,811.00           232,106,811.00       46,746,306.00    46.53% 35,600,593.30    74.25% 733,100.15     202,932,769.86  27,210,587.32     75.46% -24.54% 35.12%

5000 0.00 0.00 0.00 0.00% 0.00 0.00% -                    -                       -                        0.00% 0.00% 0.00%

6000 0.00 0.00 0.00 0.00% 0.00 0.00% -                    -                       -                        0.00% 0.00% 0.00%

SubTotal 0.00 0.00 0.00 0.00% 0.00 0.00% -                 -                       -                        0.00% 0.00% 0.00%

Total 232,106,811.0             232,106,811.0         46,746,306.0      20.14% 35,600,593.3       76.16% 733,100.2       202,932,769.9    (156,186,463.9)  434.12% 334.12% 87.43%

Porcentaje del 

total respecto 

del 

modificado 

anual

(I) = F/A*100
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Capítulo de 

Gasto  
Presupuesto Original 

Anual

Presupuesto 

modificado anual

(A)

Cifras al cierre de cada trimestre.
Porcentaje del 

total respecto 

del 

programado 

al periodo

(H) = F/B*100

(Menor) o 

Mayor gasto 
en relación 

con lo 

programado 

al periodo


